90.4412 6-19 x 3/8" Screw (18)

90.4178 6-32 x 2-1/4" Bolt (6)

90.4175 (2) Cap Srew (1)
STEALTH Sticker (1)

90.6477 Cap Cover (1)
90.4136 6-32 Lock Nut (18) /

95.2309 Aluminum Plate (1)

90.4380 1/4" Plastic Spacer (9)

95.7003 Power Supply (1) —_—
40.1061.RED 12" 16 GA —_
40.0161.BLK 1216 GA —

90.4150 Lock Nut (8)

90.4080 120 x 1" Hex Head Bolt (8)

90.6500 Housing Top (1)

23.0203 3" Dome
Available in Amber,Blue

Clear,Green, and Red(3)
SPLIT DOMES AVAILABLE

90.4028 6-32 x 3/4" Bolt (16)

23.7121.C Strobe Assembly (3)

90.6910 OMP Grommet (1)

95.7003 3 HD Multi-Flash Circuit Board

90.4700 Rivet

61.0858 (2404) Large Nylon Cable Clamp (2)

90.6728 Female Connector (1)

90.6729 Male Connector (4)

90.4523 Stainless Steel Washer (8)

90.6871 Strain Relief Bushing (1)

90.4958 Mounting Bracket (2)

90.6919 Rubber Spacer (12)

ATINDI1T THUDER] LREX TRTILRI
2T 2AK0OMN - 517 KN\—

BRIV EITEER

[J 12Volt 5.8 Amps / 60 Watt

[J 440 x 570 x 170 mm / 3 Kg

O ARZKNOMR 3KT&ESUT LFENHIH
OFBD31 k- YRTL 2ETT,

OBEELVRBE  F-R-8B- K- XK-

. -
Minic ®p.c.o3| 208 (1) &
| Copyrighted : 1997- Minion Incorporated - Tokyo

Minion Incorporated / Minic SysTech

35-2, Kitasenzoku 3 Chome, Ohtaku Tokyo 142-0062 JAPAN
Tel.: 8133726 4321 Fax.: 8133726 4324

Product Name Date
STEALTH Strobe Light Bar 03 02/05
Drawing No. Scale

Installation Sheet

http:// www.minic.co.jp



